How to become
a fraction
expert



What are fractions?

Fractions represent equal parts of a whole that has been
divided into equal parts.

Parts of a fraction
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This is the numerator. It represents how many
equal parts you have or are being counted.
J
)
This is the vinculum. It separates the numerator
and denominator.
J
)
This is the denominator. It represents how many
equal parts the whole has been divided into.
J/

Types of fractions

3

/ Proper fraction \

A proper fraction is less
than one whole. The
numerator is smaller

\ than the denominator /

53
4

/
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Mixed number

A mixed number is
more than one whole.
It is made up of a
whole number and a
fraction.

\

J
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The shaded squares
show z as the shape

has been divided in to
four equal parts and
three of them are
shaded.
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4
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Improper fraction

An improper fraction is
more than one whole.
The numerator is larger

\ than the denominator./




Add fractions with the same denominator

Add the numerators
together.

The denominator does not
change, as the size of the
parts (eighths) doesn’t
change, but we are adding
two parts together.

Set 1 Set 2
J)%+1_62 1)% +1—72
2)i+i 2)% +%
3)%"'% 3)1—10 +%
EATRSTREN
5) % +% 552 +4
63 +5 HL + L
7) 5+ 72 4k
85 +3 8 +2

Set 3

4
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+_

11

1 4
2% 1o

1
3)-

1
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+
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Noll BN
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1
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1
7)3

+
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2
8)H +
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Set 4



Subtract fractions with the same denominator

Subtract the second
denominator from the first.

The denominator does not
change, as the size of the
parts (eighths) doesn’t
change, but we are
subtracting one part from
another.

Set 1 Set 2
TR pZ L
2)1% % 2= -2
i i D
4)% % 4)% "1
5; -3 Dt .2
% "o 67 -2
7)§ ) % 7)% -5
95 - 3 ot - 2

Set 3
Do -5
2
i
T
55 12
65 13
7% -
85 -3
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Find fractions of numbers

1)Divide the whole number
by the denominator.

(48 + 4=12)

2) Multiply the answer by
the numerator

(12 x 3 = 36)

Set 1 Set 2
1) 2 of 72 DL of 72
2) % of 54 2) 5 of 54
3§ of 52 3) 7 of 52
4) < of 175 43 of 175
5 X of 300 52 of 300
6) = of 100 &)L of 100
7) 5 of 100 7)2 of 100
8) - of 25 8 = of 25

3
4

48 -4

of 48

= |12

dividing by 4lfinlds lone quarter.

12x3 5 36
multiplying by 3finds 3 qualrters

12 12

12

12

N Es T

Set 3
12 of 36
2)2 of 56
32 of 100
82 of 210
5) 1 of 250
6) = of 84
7) 2 of 140
8) < of 64
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Set 4

1)z of 72

2)

3)

4)

5)

6)

7)

8)

ol win o|w

wiN

| N

N |~

of 64
of 180
of 120
of 27
of 42
of 140

of 114



1)

2)

3)

4)

5)

6)

7)

8)

1) Divide the number by the

numerator
(18 = 3 =6)

2) Multiply the answer by
the denominator

(6 x 4= 24)
Set 1
%of_is%
S of __is12
%of_isé
gof_is15
T oof _is 42
%of_is15
éof_isS
S of __is14

Set 2
)% of __is 18 1)
Sof_ is12 2)
2 of __is10 3)
g of s 49 4)

4)

5)

6)

7)

8)

Find the whole from a fraction

18 is% of whichnumber?

% of __is15 6)

% of __is8 7)

6 6 6

Sy

18 = 3l=|6
bX 4 =24

18 is = of 24

Set 3
3 .
< of __is 18
2 of __is 12
2 of __is10
~ of __is 49
7 .
m of ___is35
= of s 21
%of_lsci

2 .
" of ___is 24
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1)

2)

3)

4)

5)

6)

7)

8)

Set 4

= of ___is24
= of ___is15
- of ___is20
5 of ___is56
I of ___is 40
> of s 24
m of ___is15
" of ___is8



Using common factors to simplify fractions

1) Find a number that both
the numerator and the
denominator can be divided
by (in this case, 3)

2) Divide both the
numerator and denominator
by that number.

Set 1 Set 2
[Pl N -
2) 2 2 -
Dis 92
4) = 4
5) = 5 =
6) = 6) =
7 7 =
8 = 8) =

0 —

2) =

24

3 )g

12
4) 30

5)

6)

NoN o))

12
7) 36

g) =
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Set 4

N =

15
2) >0

3 )g

5)
6) —

5
7) o

8 —



Use multiples to express fractions in the same denominator

1) Find a common multiple
of both denominators (in

this case, 6)

2) Work out what the
denominators need to be
multiplied by to reach the

new denominator

3) Multiply the numerators
by the same number

Set 1
D 5%
2 =%
3= ==
NI
5 =%
) 3 =%
7 = =2
® =%

Set 2 Set 3

1);=§ 1 §=1_66
2)£=% 2) —3=%
% = V5w
D> =1 V7 =%
)%=a; 5)%=Z
6) = == 6) = =4
N =< N 4w
8 —=—2 ) =

Set 4
8
1)_1=E
275 =100
32 =2
11
4> =—
10 2
7 1
5)3 =—
4
6)—2 =1_6
7
7)E =£
8 —=—=2



Convert mixed numbers to improper fractions

1)Multiply the denominator
by the whole number.

3) Write the answer as a
numerator over the existing
denominator

Set 1 Set 2 Set 3 Set 4
6 1) 3c= 5 1) 45=
1 _ 3 1 _
3 _ 3 4 _
3) 33 3)6- = 3)95 = 3) 8= =
4) 6= = 3 4)22 = 1
2 4)4; = 3 4) 4> =
2 _ 1 9 _
5) 33 5)63 = 5)310 - 5) 4% =
2 3
s _ 6 2
3 _ 3 1_
7)35 7)8;: 7)34— 7) 3g=
3_ 2 1_
8) 63 8)7 7= 8)7 3= 8) 9§=
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Convert improper fractions to mixed numbers

1) See how many times the
denominator will go into the
numerator (once, with a
remainder of 3)

2) Write the answer (1) as
the whole number

3) Write the remainder (3) as
the numerator over the
existing denominator.

Set 1 Set 2 Set 3 Set 4
1)3—;= 1);}—3= 1 2. 1)%:
25 - 25 = 2)% - 25y =
35 = 37 = 22 - P -
Vg - V3 - 42 - 92 -
D3 - e = ¥ - 2 -
6 2 = 6) = = 6) 5 = 6 2 -
7% = 7% - 75 = 7P -
8y = 82 = 875 = 920 _

7
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Compare fractions
< > =

less than more than  equal to

1) Decide on a common
multiple of the two
denominators to become the
new denominator

2) Convert both fractions to
have the same denominator.

Set 1 Set 2 Set 3 Set 4
1; 2;“7 1)% 123 1)237 g 7 238 %
2= L 25 3 28 2 2% 1
%5 Ymow B i %
O R
D DL 2 5L
oS 9 % oL 1 gt ¢
I B N S
g L D5 s o L 8 2
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Order fractions

. Put these fractions in_ascending order:
1) Decide on a common

multiple of the denominators
to become the new
denominator

2) Convert all the fractions to 1615 18 [12

X135 [9x%x2 (141
544 |4/ |10, 20X

I

have the same denominator. 20 |20l |20

Place in ascending order Place in descending order
Set 1 Set 3
153 s = > 22

4 12 2 4 16
Set 2 Set 4
301z 2 415 1 U
3 15 5 20 4 10
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Adding proper fractions

1) Convert both fractions to have
the same denominator

2) Add the numerators, but not
the denominators.

3) Simplify the answer if you can

Set 1 Set 2 Set 3 Set 4
9 8 9 2

1)— +- 3 5 1)— +—= 7o, 4

)27 9 ])£ +- )26 13 1)5 +
3 3 4 1

25 +3 LI 2 +; 1
4 6 2)20 +3 7 4 Z)E +
2 4 10

35t 3)§+§ % 10 3F +%
4 5 2 11

4~ 42 2 9 4= += 7 .8
21 7 4)7 + 11 22 418 +35
8 9 6

5= +— 8 2 5)— +— 10 3
13 26 5)20 + 2 15 30 518 +3
9 2 2 10

6= +2 0,6 62 +2 s .
16 = 4 6)14 + 2 3 12 621 +2
3 3 6

7= +—= 13 7= +— 2 2
6 18 7)5 +7 9 27 7)1— +
1 5 11

85 + % 8)§+; o 3 8:2 + 5
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Subtracting proper fractions

1) Convert both fractions
to have the same
denominator

2) Subtract the
numerators, but not the
denominators.

3) Simplify the answer if

you can

Set 1 Set 2 Set 3 Set 4
U5 5 pL.2 D5 ne -z
5% 9Ll V5w 2L
%w o pil 955 e 1
V5 % DERE V%7 22
% 7 522 %3 st .2
o) 1 6L -2 933 6~ -1

2

73 1 nt.2 ZE e L
KRR LR B
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Adding mixed numbers

Method 1

1) Change any mixed numbers to
improper fractions.

2) Convert both fractions to have
the same denominator

3) Add the numerators together.

5) Simplify the answer if you can.

Method 2

1) Add the two whole numbers
together.

2) Convert both fractions to have
the same denominator.

3) Add the numerators together.

5) Add together your two
answers.

@SarahFarrellKS2



1)
2)
3)
4)
5)
6)

7)

8)

1)
2)
3)
4)
5)
6)
7)

8)

Set 1

Set 2

dding mixed numbers
A

1)
2)
3)
4)
5)
6)

7)

8)

iy
2)
3)
4)
5)
6)
7)

8)

Set 3

3
6% +82

+4-
10



Subtracting mixed numbers

1) Change any mixed numbers
to improper fractions.

2) Convert both fractions to
have the same denominator.
3) Subtract the second
numerator from the first.

5) Simplify the answer if you

can.

Set 1 Set 2 Set 3 Set 4
1) 85 -2 1) 5% -3t 1 85 15 1) 7= -4
2) 55 -4 2) 6= -2 2) 95 -3 2) 75 -32
3) 7% -3% 3) 61 -4 3) 85 -1 3) 82 - 2%
975, o - 42 9 % -2 4) 6= -3—
5) 555 -4 5) 65 - 22 5) 65 - 155 5) 95 - 4
6) 9%—1% 6) 6%-4% 6) 9&-21—70 6) 5%_4%
DA gyl a2 7) 85 -25 7 61 .22
8 5. -3 B & -1 8 6 -4 8 7 - 12
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Multiply pairs of fractions

1) Multiply the numerators
2) Multiply the denominators
3) Simplify the answer if you

can.
Set 1 Set 2 Set 3 Set 4
1 3

1) - x-= 2 5 3 .8 1 7

)7 5 ])E Xg 1) 20 X9 1) EX;
7 2

2) — x-= 3 2 2) 5,16 11 1
03 2) 2 X710 8 20 2) 20 17
1 1

3) = x- 2 3 1 3 12 3
3 4 3) EXE 3) 2X18 3) 1_6XZ

4) o x1 1 3 1 7 1 1
> 2 9 3 % REREY 9 35 X3
5 5

5) = x= 2 1 5) 141 16 2
6 8 5) 4-X6 2 4 5) 20X3
1 2

6) - x- 4 4 2 3 2

) 2X6 6) ;Xg 6) 16X4 6) ZX_
1 3

7) = x- 2 13 2 31

) 2X9 7) ;X_ 7) 15X7 7) ng
1 1

8) = x- 4 1 2 2 2 3

) g X2 8) - X3 8) s X3 8) o X3
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Divide fractions by whole numbers

1) Multiply the denominator by
the whole number and write the
answer as the new
denominator.

2) Simplify the answer if you

2
3™
]
3
2.
3
2
9

can.

Set 1 Set 2 Set 3 Set 4
N 2+s 2 2 +3 N 2 +3

7 1)§+5 7 7
2)§+2 2)§+4 2)§-3 2)§+2
3 23 SR 3) = <5 SRER
4 2 +3 P 4) < +5 9 Zs
5)§+2 5)§+5 5 = <+7 5)§+4
6) = +5 6F +4 6) = +5 & Z+6
7 2 +3 72 +3 7 £ +3 JERE
8 2 +2 o1 8 = +2 8 1.4
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Divide mixed numbers by whole
numbers

1) Change any mixed numbers
to improper fractions.

2) Multiply the denominator by
the whole number and write the
answer as the new
denominator.

4) Simplify the answer if you

can.

Set 1 Set 2 Set 3 Set 4
N 2 . 2 . 2
D3- +5 D22 +3 1) 4 +3 0 22 +5
2. L 1. 1
2)13.4 2)33 2 2)33.3 2) 65 +2
1. L 1. 2
33 +2 3 3;+6 3 42 +5 3) 4% +3
2 . 2 . 1. 1
4 4= +7 4) 12 +5 4) 25 +5 4) 4= +3
3 . 3 . 3 . 3
522 +5 5 22 +4 5 32 +7 5) 37 %2
L L 2 . 2
6)39.4 6)23.6 6)13.5 6) 8575
2. L 1. 1
N1z +3 7) 57 +3 7) 27 +3 7) 47 +3

1. 3 . 3
83- +6 8) 3- +4 8 3= +2 8) 6= =2
5 5 =
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Multiply fractions by whole numbers

1) Write the whole number as a
fraction over 1.

2) Multiply the numerators

3) Multiply the denominators

5) Simplify the answer if you

can
Set 1 Set 2 Set 3 Set 4
1 1 1 2

1)2x4 1) S, X4 ])E x 12 1)5)(4

2 = x3 2 X x3 2) I x6 5
3 6 2) - x9
1 1 1

3) 3X5 3) Exé 3) ZX8 3) EXS

4 = x5 8 X x9 5 L x12 5
6 8 4) §X4
1 1 1

5) 4X3 5) §X7 5) EX7 5) §X3
1 1 2

6) 8X3 6) 1—0X7 6) §X8 6) = x6
1 1 2

7) 5X2 7) ZXQ 7) §X4 7) %Xé
1 1 5

8) 2X2 8) §X5 8) EXQ 8) §X7
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Multiply mixed numbers by whole numbers

Method 1

1) Change any mixed numbers
to improper fractions

2)Write the whole number as a
fraction over 1.

3) Multiply the numerators

4) Multiply the denominators

6) Simplify the answer if you
can.

Method 2

1) Multiply the two whole
numbers together.

2) Multiply the fraction by the
whole number.

4) Add your two answers
together.

5) Simplify the answer if you
can.

@SarahFarrellKS2



1)
2)
3)
4)
5)
6)
7)

8)

1)
2)
3)
4)
5)
6)
7)

8)

Multiply mixed numbers by whole numbers

Set 1
4= x 2
2
4lx3
2
3§x4
32 x3
4
1Zx5
3
51x2
4
4— x 3

3lx2
2

Set 2

1)
2)
3)
4)
5)
6)
7)

8)

1)
2)
3)
4)
5)
6)
7)

8)

Set 3

Set 4



Match the pairs of equivalent fractions

S w

winN

24 9
36 12
7
8
32
56
10
8 = =
—_ 12
14 18
9
18

15
27

21
24
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: : 3
Follow the maze of fractions equivalent to s

3 6 12 3 2 7 11 2 5 3
start 1 s ' 9120 2 | 3 |T0|55| 2| 3 |10
3 1 15 6 3 12 30 3 2 3
613|356 |20|50]| 35|35 ]|12
6 3 30 21 3 6 4 24 3 2
|5 |50|3 |5 |05 |29
3 4 5 24 6 27 36 33 | 300 6
519 |3 |2 | 70|25 |35 |55 |50] 5
6 24 2 12 3 2 5 6 18 6
®|20| 2|20 7|3]|9]|3 3|10
15 30 6 18 3 7 6 6 9 3
|50 35|36 |9 |1|10| ]| 3
3 21 18 9 6 36 2 30 60 | 210
5 |35 |24| 15| 11|60 3 |55]700]|350
3 5 33 | 300 9 3 9 3 3 end
613 |m (50|37 |55

Here are some fraction pyramids. The fraction in each box is the
sum of the two fractions below it. Add in the missing numbers.

9
10
3 6 11 | 4
12 10 20 | 20
1 4 5 2 8 1
12 12 10 10 20 20
17
30
7 10
15 25
2 | 3 3 2 3 | 4

@SarahFarrellKS2



Here are some fraction pyramids. The fraction in each box is the
sum of the two fractions below it. Add in the missing numbers.

1 3 1
4 5 5
1 1 1 2 1
12 3 2 5 5 20
4
5
11 2 1 7
25 | 5 3 | 30
2 1 4 1 2 7
15 | 5 | 15 5 25 30

The number in the middle of each circle can be found by adding 3
of the other fractions and subtracting the fourth

@SarahFarrellKS2



Each of these problems matches one of these 5 answers. Match the
questions to the correct answers

A w
+
vl N

|
Bl w

6 3
20

X

ul N

|
B lw

15
X 5= —
4

Lucy has % of a cake and
she gives % of it to Jessie.

How much does Lucy now
have?

3 .
Mason has run " of a mile

. 2 .
and Ellie has run S of a mile

more. How far has Ellie run?

Kate drinks % of a bottle of
juice. Mike drinks % of an
identical bottle of juice.

How much more does Kate
drink than Mike?

A car drives % km. A lorry

L2
drives S times as far as the

car. How far does the lorry
drive?

Molly runs% of mile. Luca

runs 5 times as far. How far
does Luca run?

A stack of 5 pieces of card
is % of an inch thick. How

thick would one piece of
card be?

.3
A chocolate bar is " of an

inch thick. How thick would
a stack of 5 bars be?

A box is %fu“ of sand. A

child removes % of it. How
much of the box is left?

Lila and Cameron have two

o . . 3
identical pizzas. Lila eats "

2
of hers and Cameron eats S

of his. What fraction of the
pizzas have they eaten
altogether?

PO,

‘ 4 |4 14 14|24
O |
3 2 ? 2
4 5 5 e
? | C
z e
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Mixed fraction problem solving

Jack has 100 toys. He gives 2—70 of them to his

. 3 .
sister and Bof them to his brother. How many

does he have left?

Jake weighs out 14 grams of flour. He then

. 1.
weighs out 9 5 times as much sugar. How much

sugar does he use?

Section a is é of the circle

and section b is 49%. a
What percentage of the

circle is section c?

) 3. ) 1 )
Section a 5 is and section b is—. Sections ¢ and

d are exactly the same size. How big is section
d? b

Amy spends % of her money on a book. She has
£28 left. How much did she spend on the book?

A biscuit mix weighs 450g. % of the mix is sugar,
16% is chocolate chips and the rest is flour. How
much of each ingredient is required?

A stack of 8 bars of chocolate is 9 % cm thick.
How thick would one bar be?

Laura has g jug of lemonade, 1% jug of orange

juice and %jug of cranberry juice. She mixes
them all together to make a new drink and then
divides it evenly between the three jugs. How
much of each jug is full?

A stack of 7 books is sitting on a table. The

table is 90% cm tall. One book is 4 S thick.

What is the total height of the table and the
books?

4 pieces of string measure 2% cm, 1 1—10 cm, 1 %
cm and 2.5 cm. What is the mean length of the
pieces of string?

L4 . 1.
A car drives S km. A lorry drives 35 times as far

as the car. What is the total distance that both
vehicles travelled?

A shop is having a 25% of sale. Max picks up a
game that originally cost £40. When he gets to

the till, he gets a further g off after the 25%

discount. How much does he pay in total?

A gardener divides up -
his garden like this: T leeks

The beans take up i

carrots "y beans

of the total garden.
How much space do
the leeks take up?

. . 3, .
A jug contains 2 " litres of water. Marie pours 1

% L away and then divides the amount left

equally between 5 cups. How much will go into
each cup?
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Mixed fraction problem solving (2)

Callie plants blue flowers in éof her garden and

L1
red flowers in s of her ? 1
5

garden. In the rest of
the space, she plants

grass. What fraction 3
of her garden will be
grass?

In this circle, the section

marked b is %. Section c is

3 times as big as section b.
What fraction of the circle
is section c?

. 1.
Jason runs 5 km. Lisa runs 25 times as far as

Jason. How far does Lisa run?

After a party, Sophie has 3% bottles of lemonade
left over. She shares it with her 3 sisters. How
much of a bottle of lemonade will each of them
get?

Dictionaries are 7 i cm thick. How thick would a

stack of 25 dictionaries be?

A shop sells 3 % kg of potatoes and 2% times as

much flour. How much flour is sold?

. .1 .
Section A s of the circle.

Vi
Section B is 3 5 as big as ' \
A
section A. How big is? —
section B? \ -
" &

. 1 . . . .
Section A is 3 of the circle. Section B is 3 times as

big as section A. 7 7\
a) How big is section B? 0\

b) How big is section C? AN

A stack of 5 books is 12 % cm thick. How thick

would one book be?

A jug contains 73; of a litre of squash. After you

5 , .
pour out - of a litre, how much is left?

Lisa walks g of a mile. She then had a rest and

walked for 1 % of a mile. How far did she walk in
total?

Monica jogs for 2 % km. Simon jogs for% km. How

much further does Monica jog than Simon?

A buttercup has a stem that is 26 mm long. A

. 1.
sunflower has a stem that is 14 S times as long.

How long is the sunflower stem?

A length of rope is 3 % m long. If it is cut into 5

equal sections, how long will each section be?
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Find the missing total

0 |u1

@O0
- D0@
D@D

Find the missing total

@

ool I 5

(K3,

L
AN
@
@

@SarahFarrellKS2



Follow the maze of fractions that have been written in their
simplest form

3 ( 3 |11 2 | 3 | 2| 9| 6 | 11| 2
start V= sl l sl | 2|l 2|17 7
1 ( 3 17| 1 | 3 | 2 | 4 | 4 | 3 | 3
2|2 || s5|7|sl8l9]l35]|5
21 6 | 4 | 2| 2| 4 |33]|] 6 | 2| 4
Zlo|lm|7|elzlss]38]|3|12
4 (3 | 8 | 8 | 21| 4 |1 ]| 2| 4 | 1
51 24|93 |3 |5|35]3]|535]s8
31 4 | 21 4 | 3|6 | 9| 4 | 2| 3
71279 || s ||| 38| 7|1
21 218 7 711 21 211 91 9| 2
o | 7 |6lz| |z 7|39 30
51 4 | 3 | 7 |15 3 | 4 | 4 | 3 | 3
|6 |21|14|16|19|13|108| 10| 12
1 |1 3 | 6 | 2| 3| 4 ]| 6 | 3 | 5 |end
a1 7|5t | T |l@|lalz| T
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Add fractions with the same
denominators- ANSWERS

Subtract fractions with the same

denominators- ANSWERS

Set 1 Set 2 Set 3 Set 4 Set 1 Set 2 Set 3 Set 4
8 10 10 10 1 1 4 1
1)< ks )3 ) = 1)< 1) = 1 = Ik
2 7 5 6 6 1 3 1
22 2) = 2= 2 = 2 2) = 2 = 2) =
9 6 3 11 4 3 3 5
o T 33 2T ST S 2T ST
8 4 8 2 2 2 1 1
4 4 - 45 4 3 4 9 4 D 5 43
5 7 9 4 1 2 9 1
5) P 5) 5 5) e 5) o 5) > 5) el 5) = 5) s
2 2 2 1 6 1
6) < 6) 15 6) 6) < 6) 75 6) 6) 6) -
8 2 2 5 1 1 1 1
7)5 7)5 7)3 7) s 7)5 7) ' 7) s 7)3
7 11 4 4 2 1 3
8) 5 8) ' 8) o 8) T 8) 5 8) I 8) I 8) m
' . Finding the whole number from
Find fractions of a fraction- ANSWERS
numbers- ANSWERS
Set 1 Set 2 Set 3 Set 4 Set 1 Set 2 Set 3 Set 4
1) 63 1) 20 1) 9 1) 63 1) 48 1) 27 1) 30 1) 56
2) 39 2) 42 2) 11 2) 24 2) 30 2) 20 2) 28 2) 21
3) 13 3) 80 3) 50 3) 120 3) 27 3) 18 3) 45 3) 35
4) 35 4) 140 4) 25 4) 100 4) 24 4) 56 4) 84 4) 96
5) 50 5) 50 5) 150 5) 18 5) 48 5) 60 5) 50 5) 55
6) 10 6) 42 6) 95 6) 24 6) 40 6) 35 6) 49 6) 28
7) 75 7) 20 7) 20 7) 20 7) 12 7) 20 7) 15 7) 50
8) 10 8) 8 8) 40 8) 57 8) 18 8) 22 8) 132 8) 22
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Using

common factors to simplify

fractions- ANSWERS

Use multiples to express fractions in
the same denominator- ANSWERS

Set 1 Set 2 Set 3 Set 4 Set 1 Set 2 Set 3 Set 4
1) 1), ) ;| D5 n L2 |22t (DTSSR ) Q.
12 24 9 3 8 16 11 22
2 |23 |21 |93 ||atez |24t |22 |25-2
i |V |V 5|V || 9nen | 955 | Vien | Yaex
93 |5 |V & | Ys V5= | Pisi | 95-h | 0%
R CI CE R RN PR N P PR P
N N e 1L
ot |93 |9 |9t |93z |w2 |02-2 |93
Convert mixed numbers to Convert improper fractions to mixed
improper fractions ANSWERS AU SIS
Set 1 Set 2 Set 3 Set 4 Set 1 Set 2 Set 3 Set 4
9 £ =2 |9e=2 |3 w=2 38 -2 DT =5 | 9Z=E | D=4 |pE-7
D=2 | 0a =2 |4 2222442 DT -E | wZ=rn |HT=6; | 0T =5t
D322 |nez=T |5 3=2 15422 || 5T -5 | 583 | 5HT-4l| s
0 42=2 160 92=-2 |o =2 |a7;=2|le L=6 |0 L= |0 T=-3|6 22
N3t=2 |nsi=2 |n #=L|n3l-2 || 2. L. | nT-5;|pB-7l
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Comparing fractions-:ANSWERS

Ordering fractions ~-ANSWERS

Set 1 Set 2 Set 3 Set 4
Set 1 Set 2
7 9 2 9 3 5
% >+ D> | p2< | pis
9 27 26 13 27 9 28 7 1 5 3 5 2 1 2 3
8 4 1 3 8 1 - - - = - SO -
1 10 8 2 4 2 2
e | Ve <w|PVi=s | V5<%
7 8 2 11 4 2 9
Vs <5 | Ya<z|P= Y3 <n
Set 3 Set 4
10 3 6 3 8 9 8 2
i )5 %% | V1576 | Vw5
5 5 2 10 9 10 6
6y <7 | ¥3<n | 9% <: |95 <3 15 3 1 3|19 4 11 1
2 2 6 7 3 1 3 16 4 2 8 20 5 10 4
o <3 75%% | 7% 735 <1
11 1 1 1 4 9
s <1 | P10 <3 |8s5<% |75
Adding proper fractions- Subtracting proper fractions-
ANSWERS ANSWERS
Set 1 Set 2 Set 3 Set 4 Set 1 Set 2 Set 3 Set 4
2 23 1 25 3 4 13 s
R 5 D 28 D D 27 1) 10 D 27 D 22 1) 26
1 13 9 7 2 5 1 3
2) 14- 2) 20 2) 14 2) 22 2) 11 2) 9 2) 2 2) 8
1 5 3 t 8 5 1 1
3) 13 3)9 3) 110 3)2 3)E 3)3 3}9 3)5
19 13 15 s 2 1 3 15
4 21 4 14 4 22 4) 118 4 30 4 3 4 28 4 28
25 4 1 8 2 3 4 5) 0
5) 26 SJ 5 5) 2 5) 9 5) 7 5) 11 5) 7
1 4 1 20 1 3 3 6) i
6) 1~ 6) 1- 6) 15 6) 5, 6), 6) 75 6) 75 12
2 1 25 7 3 5 1 7) Z
7)5 7)5 7)5 7)5 7)5 7)5 7)g 22
3 7 13 1 3 1 8) l
8) 15 8); 8)5 8) 1% 8)E 8)H 8)5 9
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Adding mixed

Subtracting mixed numbers-

numbers-ANSWERS ANSWERS
Set 1 Set 2 Set 3 Set 4 Set 1 Set 2 Set 3 Set 4
0 102 16 N5 | D108 1 5~ D= 1 6 1 2
2) 103 2112 | 2) 115 | 2) 155 2?2 2) 3% 2) 52 2) 32
3) 4 3) 113 3) 14 3) 105 3) 3¢ 312 3) 6 3) 5t
4) 9= H1- [ H15- | 993 4) 3> 4) 42 4) 62 4) 25
5) 105 5 10~ |5 11> |8 7= 5 = 5 3 5 4 5 4=
6) 132 | © 155 6) 1= | 6) 8> 6) 72 6 12 6) 622 61
7) 107 7155 16— | 7) 95 7) 4> 7) 3= 7) 5= 7) 3=
1
8) 7= 8) 103 8) 72 8) 95 8) 12 8) 6 8) 12 8) 52
Multiplying pairs of fractions- Dividing fractions by whole numbers
ANSWERS -ANSWERS
Set 1 Set 2 Set 3 Set 4 Set 1 Set 2 Set 3 Set 4
D R | vEat |04 Dom [Ps P oa |V &
2% |25 |22 |2Z& 2 ¢ 2% |25 |2
3) % 3) % 3) 33_6 0'1_12 3)2 orl% 3) 1—25 3) % 3) 2—15 3) 3—10
pE (w2 |ploal |l 95 s |0 % Y w
n 2 |n 2 |5l 5L ol 5 = |9 % 5 = 5
6) % 6) g 6) % or% 6) zis or% 6) 1_25 6) % 6) % 6) 1_28
e | 7% | Ve 75 CO T A I I
Dk 9= |9 8) & or; 8 — |8 8 — |8 =
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Dividing mixed numbers by Multiplying fractions by whole

whole numbers -ANSWERS numbers- ANSWERS
Set 1 Set 2 Set 3 Set 4 Set 1 Set 2 Set 3 Set 4
17 16 30 16 4 4 12 2 8 2
])2—5 ])Z ])Z ])g J)E or 2 1)10!’1 J)?OFZE 1)50!’25
2)1—52 2)1—60 2)? 2)% 2)§or1 2)§or1% 2)§or1 2}4—650r 7%
19 16 21 22 5 2 6 8 15 3
3)E 3)% 3)5 3)E 3)5 OFTE 3)507’3 3); or 2 3)7 OF3Z
22 10 17 25 5 9 1 12 1 20 1
4)£ 4)5 4)5 4)2_8 4)3 4)50?’15 4)?or1§ 4)?07’ 25
17 17 24 27 3 7 1 7 1 9 4
5) P 5) > )4—9 5)E 5) " 5) 30r 25 5)2—01’35 5)E or 1E
29 8 5 26 7 16 1 6
5)& 6)1_8 6)E 6)E 6) = 6)5 5)?01’55 6)Eor3
7 27 11 21 2 9 1 8 2 12
7)5 7)E 7)E 7)E 7)§ 7)10!’21 7)§OF2§ 7)703
16 16 18 33 2 5 45 1 28 1
8)5 8)% 8)1—0 8)1—0 8)50[’1 8)5 8)?07’ 75 8)? or35

Multiplying mixed numbers by whole numbers

ANSWERS
Set 1 Set 2 Set 3 Set 4
" 9 n 13 n 133 n 122
1 2
2) 13- 2) 142
) 2 ) 5 2) 7% 2) 11+
2 10
1
3) 122 3) 16 3 18% 3) 25
4 4) 12
4) 10 = 4) 7 — 1
10 4) 17 —
5 & 5 122 N voE
3 5 5) 13 = 6) 292
6 102 6) 22 , >
z 1
" IRE 6) 215 7 125
7 14 . 7 26 1
8) 8 8) 10,
8 7 8 22
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Bl w

WIN

Match the pairs of equivalent fractions

24
36

7

8

32
56

10
18

1_5
27

21
24

9
y 2
5
4
35
)3
4
3
35
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: : 3
Follow the maze of fractions equivalent to s

3 6 12 3 2 7 11 2 5 3
start 5 10 | 20 1 3 10 55 4 9 10
3 1 15 6 3 12 30 3 2 3
6 3 25 5 6 20 50 5 5 12
6 3 30 21 3 6 4 24 3 2
12 5 50 35 5 10 5 40 9 5
3 4 5 24 6 27 36 33 300 6
5 9 3 40 10 45 60 55 500 5
6 24 2 12 3 2 5 6 18 6
18 40 4 20 4 3 9 9 30 10
15 30 6 18 3 7 6 6 9 3
25 50 5 30 6 9 11 10 15 4
3 21 18 9 6 36 2 30 60 210
5 35 24 15 11 60 3 55 100 | 350
3 5 33 300 9 3 9 3 3 end
6 3 45 500 15 7 5 15 5

Here are some fraction pyramids. The fraction in each box is the
sum of the two fractions below it. Add in the missing numbers.

9 9 15
12 10 20
3 | 6 6 | 3 11 | 4
12 | 12 10 | 10 20 | 20
1 5 | 1 | 2 8 | 3 | 1
12 | 12 | 12 10 | 10 | 10 20 | 20 | 20
12 21 17
15 25 30
5 | 7 11 | 10 10 | 7
15 | 15 25 | 25 30 | 30
2 3 | 8 | 2 7 | 3 | 4
15 | 15 | 15 25 | 25 | 25 30 | 30 | 30
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Here are some fraction pyramids. The fraction in each box is the
sum of the two fractions below it. Add in the missing numbers.

3 9 3
4 10 4
1 3 | 3 11 | 1
4 | 2 5 | 10 20 | 5
1 |1 1|1 |1 2 | 3 | 1
12 | 6 | 3 2 |10 | 5 5 | 20 | 20
4 21 17
5 25 30
1 | 7 11 | 2 1| 7
3 |15 25 | 5 3 | 30
2 |1 | 4 1 | 6 | 2 7 |1 | 2
15 | 5 | 15 5 | 25 | 25 30 | 10 | 15

The number in the middle of each circle can be found by adding 3
of the other fractions and subtracting the fourth

1 1 2 17 11 6
1)- + = + = = —. Subtract — to make —
4 2 3 1 12 12
3 1 4 14 1 11
2)= + — + — = —. Subtract = to make —
4 12 12 12 4 12
1 4 7 24 2 14
3)= + = + — = —. Subtract - to make —
3 5 15 15 3 15
1 3 3 13 2 1
4)- + — + — = —. Subtract = to make -
5 10 20 20 5 4



Each of these problems matches one of these 5 answers. Match the
questions to the correct answers

Sl w
+
[ W )
Il
—h
|

|
Bl w

X

ul N

20

6 3

ol
Il
|
S w

15
X 5= —
4

Lucy has % of a cake and

she gives % of it to Jessie.

How much does Lucy now
have? %

3 .
Mason has run " of a mile

. 2 .
and Ellie has run S of a mile
more. How far has Ellie run?

3.
1— mile
20

Kate drinks % of a bottle of
juice. Mike drinks % of an
identical bottle of juice.
How much more does Kate
drink than Mike? 2—70

A car drives % km. A lorry

L2
drives S times as far as the
car. How far does the lorry

. 6
drive? — km
20

3 .
Molly runs - of mile. Luca
runs 5 times as far. How far

15 .
does Luca run? ” mile

A stack of 5 pieces of card
is % of an inch thick. How
thick would one piece of

3 .
card be? — inch
20

A chocolate bar is % of an
inch thick. How thick would

a stack of 5 bars be? 1:5

A box is %fu” of sand. A
child removes % of it. How

much of the box is left? %

Lila and Cameron have two

T . . 3
identical pizzas. Lila eats "

2
of hers and Cameron eats -

of his. What fraction of the
pizzas have they eaten

altogether? 1=
20

inch

3 3 3 3 3 3 3 3 3
20120120 (120 |20 4 4 4 4 4
15
3 -
- 4
\@ 4
3 > ) >
4 5 5 /
7 (%)
. ©
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Mixed fraction problem solving

Gives 35 to his sister and 30 to his brother. He
had 35 left.

4
1285

11%

Add, then subtract from 1, then divide by 2. %

£21

Sugar = 270g, chocolate chips= 729 flour = 108g

1 % cm or 1.2cm

Added together makes 1% or 1 g. divided by 3

BRI
15 5§

Total of books= 32% . Total of books and table =

Added together makes Z—z . Divided by 4 = Z—g

1222 or 12 or 12 cm.
= 40 8
10 . . £18
Lorry travelled 2 = Added to the car distance is
7
3 E km.
2 130 left. Each cup will get 21 or 250ml.
10 4 4

Mixed fraction problem solving (2)

Adding then subtracting fractions 2/15

Multiplying a fraction by a whole number. 3/8

Multiplying a fraction by a whole number. 12 Y2
km

Dividing a fraction by a whole number. 17/20

Multiplying a fraction by a whole number. 181 i
cm thick/ 181.25 cm

Multiplying pairs of fractions. 7 1—70 kg

Multiplying pairs of fractions. g

A) Multiplying fractions by whole number. g

b) Subtracting fractions g

Dividing fraction by whole number 2 % cm

. . 1
Subtracting fractions 3

Adding fractions. 2%

. . 17
Subtracting fractions 1 % km

Multiplying fraction by whole number. 365 %mm

Dividing fraction by whole numbers. % or 72cm
or 0.72 m
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Find the missing total

o lun

: 1
Circles = p’

1
pentagons = Z’

o |lw

- 7
1 Missing total .

‘@O0
-00I@

Q hexagons = Z,
2

>

8

Find the missing total

oo |

L

[9;1

=
4

1
? Pentagon = Py

L
ANE
@
@

> Q@

3 .
square = -, triangle

3 =~ and circle = =
1- 1= 2E 2 8 2'1
4 8 Missing total is 2,
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Follow the maze of fractions that have been written in

simplest form

their

3 ( 3 11| 2 | 3 | 2 | 9| 6 | 11| 2
start b s L s 77l sl | 2|l 2|17 7
1 | 3 (17 | 1 | 3 | 2 | 4 | 4 | 3 | 3
2| 2 |m|5 |7 |89 |35]5
21 6 | 4 | 2 | 2| 4 |33 6 | 2 | 4
Zlo|lm|l7|elzlss]38]|3|12
4 (3 1 8| 8 | 2| 4 | 1| 2 | 4 | 1
51 24|19 |3 |55[13|5]8
3 | 4 | 2 | 4 | 3| 6 | 9| 4 | 2 | 3
712719 |11 |5 ||| 3| 7|1
2 | 2 1 8 (7 7 || 211 21 9| 9| 2
9| 7 |6lzt| |zl 7|93
5 | 4 | 3 | 7 |15 | 3 | 4 | 4 | 3 | 3
9|6 |21|14|16|19 |13 |108| 10| 12
1 | 3 | 6 | 2 | 3 | 4 | 6 | 3 | 5 |end
2|10 7|51 | 7 || Ti|12| 5
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